RRB Sccundcrabad Sr. Section Engincers Exam

(Held on 21-12-2014)

SECTIONM |
ENGLISH VERSION

1. Whan donor bype impunty ie addad to 3 sami-canductor material
(A} elecirons are generatod and matanal is N-Type
{8} electrons arc generated and matenal s P- ppo
(G} hotes aro g ted and m | ig called P-1ype
(O} holes are gencrated and matanal i caliad N-Type

i To inciease bandwidth, the dictibuled amplier uhbres
{41 common base configuration (B)  Tramgmisgion line

(C) twreed Circuit (D) Cascade ampiafa
A A pen junciion divde’s dynamie conductanco i diracily propeimanal 1o
(#A) lhe appled vollage (B) the temporatune
(C) s current (D) the thermal weltage
a. King cinsers are relaled 10
(A} aoars AR Windows {3 Hing post truss
[C] Ouseen Post russ {0} \Back Masonry
5. Seasoning of imber is required lo \
(A} Solten Ine limber {B) Harden the mber
{C] Straghlen the lmmer (D} Remove sap from the timiber

6. Batching in cancrate refars 1o,
{#) Controlling the total guantly af sach Datch
{B) Weighing accusately. the quantty of each materal for a job belore
mixing
{G) ControllingIhe quantity of each matenal imn gach patch
(D) Adjusting thE water to be added in each hatch according 1o e
moistutseontent of the malarials baing maded i e batch

T Gypsm\s used 03 an admixture in cement grouts for
{A) Cacceterating the aotting time
(B “retarding the selng time
(C) moreasing the plasteity
(01 reducing the grout shrinkage

B The maximum defection of a fiked beam carrying a central lad W is soqual
10 (other nolations standard)

" wi* wiL*
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10.

1.

In 3 hin-wall T-seclion, the shear centre C is located at the point shawn in

o LE 47—}41
L - Bk

'\.C

A simply supported beam is loaded as below

20 KN
r1nmm

, Zm Zm
I

T

The cormesponding Bending Momant Diagram is
<0 KMNm

L P M

o ® j\

10 KN 30 KNm r :_\*
f‘FQ A s

[1¥]]

f"’/ ¥ e 20 KN =< %

What is the radius of Mohr's cirche in case of bi-axiad state of siress 7
(A) Half the sum of the two principal siresses

(B) Hall the diffcrence of the two principal stresses

{C) Differgnce of the two principal streszes

(0)  Sum of the two principal stresses
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12,

13

14.

15

18,

17.

What ia the moment al A for a frame shown'below |

P
L “ﬁ. L
L L '3.
|
Each verlical memier has very large Moment of Ingnia
PL PL
1A 7 {0} &
FL PL
O} =— —
i i3 o 16

A structure has two degree of indeterminacy. The number of plastic hingea
that would be formed al complete collapse &
(Aa) O {B) 1 cy 2 o 3

Fof laminar Now between paraliel plates sepadaled by a distance 2h, head
loss vanes \ )

(&) dirmctly as h (B vuersaly ag n

{C} directly as h* D} Inversely as h®

In Surveying, Offsels are

(&) lateral measuraments made with respect 1o main survey line

(B)  perpendiculars ediled lrom chain lines

{C) taken to avoid/Gnnecessary walking between stations

[iv)] Tnuasumng_m;’uhlch ane nol made al right angles io the chain line

The true lengih of a line s koown o be 200 m. When this is measured
with a Z0\mtapa, tha langth is 20008 m. The coffect length of the 20 m
tape is-

(Al \19.82 m (B} 1988m

(C3 2004 m D} 2008m

Shear failure of soils lakes place when

(&) the angle of abliguity is masimum

{B) maxdmum cohesion is reached in cohesive sails
{C} ¢ reaches its maximum value in cobesionless soils
(U} residual strength of the eod i exhausted
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18,

19

21,

26.

What is the process of ulllizing one data link for transmission of a growp of
vanables known as ?

(A Encoding (R) Decoding

(G} Demuiiplexing [0} Mulliplaodng

In ordar to increase the range of a vollmeter

(Al a low resistance is connecled in parallel

(B) @ low esistance is connectad in saies

(3) @ high resistance is connectod in parallel

(L) a hgh resistance is connceled in seres

The internal resistance uf the mliammeter must be very low for
(A} high accuracy

{B) high senzimnty @
(S} minimum effect en the currenl in the circuit

(0} maxiroum voltage drop acioss the meter O

In nedar to have fas1, sieady and accurato respo othe moters should

han

(A} Critical damping \O
By Under darmgaing

(C) & wery high damping coetficient %

(D) Mo damping 0

In case of overdamping. 1ne|msl will become
(A} Oscillating (B} dead

(0] fas1 and sensibive (D} slow and lethargec

(D) Acd dffects ecosystem

=1mospl1-u£
(] Mag is due o strong Carbanic Acid

In G arming, the major contribution is due to
{ arbon emiceion (B} Agriculture
farcatation (D) Industry
Which of the follnwing meehanksms is NOT for removing particulate matter
fram gas streams,
(A} Gravitational settiing (D) Centrifugal mpaction
(C] Electrostatic precipitation (0} Burning the paricuisle
Which ane of the following i NOT Biotic companents of ecology.
(&) Consumaors (B} Preducers
(C) Decomposers {01 Climate

TSGOO1314 18 2003



Fi

i

AL

watch Col, X (Resull) and Col. Y (Cause)

Cal, X ColL Y
(P} Water pollution 1. Combuslion of focsi fucl
(Q) Air pollution 2.  Decaying of organic matter
(R} Moise pollution 3. Pesticides
(%) Sall palition 4. High declbel
(&) P-2,0-1, B4, 53 (B) P, 0-2, Ha4, 5.3
(C) P3,C1,R2.84 o) P1,Q23R2 54
Part of the Computer wise data and istiuchions ae held is
tA) Register Unit (B)  Arcumatn
{€) Memory Unit o) cPu

I & Computer, Assembler is

(&) a program that places programs into memory and plupasm Il1r|'| fur
aXECUlon

(B) a progrom thol automate the transkation of asamnﬂ,! languane info
machine language

(C) \ program that accepls & programm willen Al a‘lph vl banguagu
and produces an dﬂ}éﬂ. program

(D) isa program that appeare to execule aechch program it i wone

- machine language

Which of the foBiowing is NOT a register In Compter 7
{A)  Accumulator ( 8] Stack Pointar
(G} Program Countar D) Buffer

Which Mensark protocol ﬁl@ﬁd"iu send e-mail 7
(a1 FIW (8]  SSH IC) POFP3 (D) SMTP

The use of a cach€ nComputer syslem increases lhe
{A)  avaitable idemoty space for the program

(B} available memory space for the dala

(C) availphlespecd of momory access

(D} addfessing range of CPU

A m;lpurmr hae 74 addmess lines and 32 dala lines. |7 it uses 10 bis
of apeode, tha size of its Mamory Butier Ragl:lmr B

(A} 22 bits (B) 24 bits

(C) 32 bits (D) 14 bits

In @ microprocessor when a8 CPLU s inlarfupled, it

(M) Stlops execution of inclructions

(B) Acknowledges interrupt and branches off subrouline

(C) Acknowledges interrupt and conlinues

(D) Acknowiedges interrupl and waitg for the next insiructian from ne
Interrupting device
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38,

The MODEM is used with a personal gomputer to do which of the
followusing 7

(&) Convert from serial io paraliel and vice versa

(B) Conver signale betwean 1TL and RS232 C standard and vick varsa
(G} Convert from digital 1o analeg signals and vice varea

{0V To conver the compuler o a long distance communication link

Tha term digitization refers 1o

(8] conversion of anakbgue ino digial

(B] conversion of digial into analogue
{C) use of analogue form of ahectncity
() & fonm of changing physical guanttes

Which i MOT a Wireless Technology.
(A} Blue Tooth (B} A conventicnal 1mhm¢
Gy Wil (D) Wi-Max

In an Engineenng drawing, in nnuble siroke Goifib, fllering. which is
comeel, . " 3

(&) Letters are drawn thin ’

iB) The lettening template is used to :Irav-w)uh}ﬂmc of letter

(&} This is not preferred for ink draw

{1} This s nawing non- Lenifiorm M&wm

Match Col. X (Category) and Col. T'r mmndad Scala) in refarence 1o
an Enginewring drawing.

Col X Gl ¥
P Enlasging Sealo 1. 1:500
@ Full Scaie 2. 101
R Reduging Scale 3 1:1
4 1.20
(A) P=4.0>R-2P-3 (B) P=2 0-3.R-4 R=-1
C) P-1 Q-3 R-2 P-4 0y P-20-1.R-4.0-3

If RE_IS-60000 and distance to be shewn on drawing i 7.5 Km. what is
lima Jmmigth of line on drawing ?

M\ 12 5em (A} Bcm (C) 45cm D)y 10cm

A parabola con be consirucled on a drawing by the mathods EXCEPT
iA) Eccentricity Method (8) Rectangle Method

(G} Parali=logram Melhuod (D) Asymptote Method

Which of the Statemants ic NOT comect

{A) Iscmetric acale is vaed lo draw isometne projecbion
{B) Isomelic scale is not used to draw isometric view
(C) A squane is seen as recltangle in isemelnc

{0} A rectangle is seen as paralisiogram in isomelnic
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46,

47,

A parbcle moves along a crcular path wath conatanl speed What is the
nalure of its acceleration

{A) Itis zero (B) It Unafiarm

{C) e direction changes (B} Its magnilude changes

A body s al rest on the surface of Ihe eartn. Which o iha fallewing
Statemants ig corract 7

{A) Mo force is acting on the body

(B} Onty weight of the body acte on it

1) Mol downward faree is equal to net upward lorce

(L) Nene of these is cormect

The Specific Heal of the gas in an solhemal process is
A Lero (8] Infinfs
L) MNegalve (D) Remains constafl

in a Simple Hammonic Cscillalon, al the moan pogilion

(A) Kinetic Energy is minimum, Potantial Energy & makimum
{B) Baoth Kmetic and Potential Energies are maximiin

(C} Kinghc Enargy ie maximum, Potential EAGIgYis minimum
iD}  Both Kinetic and Patential Energies aie (miumum

Mirage is a phenamanon dua to
(A} Reflecton of ight (B} Refraction af lign
(C] Total internal reflecton dldight’ (D) Diffraction of light

Wihich of the foliowing caanel be speac.time (v.U) graph of a body m
miathion ?

& W
(A 8 T"ﬁ
(B) |
i i P
[¥] (5] ]
e ' L'
(15 N (o) i
e \:_H o (3

AR S AUMBDEr, Ny Means

(A} number of protens in nucleus of an atom

(8) number of atoms in cne gram atom of an alament

(L) sum of the number of protons and the neutrans in the nucleus of an
atom .

(D} number of protang o slectrons in ong gram of Sedum
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50. lsodopes of the same slement have
A Sama number of neutrons
1B) Same alomic mass
{Ch Same number of protors
{0}  Dillerent atomic numbar

51. In a reachion between o and ledine, Zing lodide is formed. What s
being oxidiacd ?
(A Zinc iong (B} lodide inne
() finc Alnm {0 loding

52.  Which of the following halogens s the best oxidising agenl 7
(A} Fa 81 Cla {C) Bry (o) g2\

53 NMarogen s used to fill electric bulbs because it
1) e lighter ihan air
(2] makes U bul lo givee mone Eg
(S} dnes nol support combustian
(L) 1% non-toxic

54,  [roth floatation pocess for the Dunrmm‘mfrp of Dwes 1% an lestrabion ol
i prachinal application of

(A} Agsarpuon 18] Absception
(&) Coagulation 0} Sedimenlbation
58 The process of increazing Taghldy of soil by earthwarms is known as
(A1 Organic farming (B) Vermicomposling
{€) Cutrophication (D) Yvarm Casting
§6.  The most ADunaER Mement presant in he plants &
(Al Iron - (/) (B} Carbon
(C} Mitrogen (D) Manganese

§7.  Anen Brings ahou
1A Dwergase in reaction lime {B] Increase in reaction time
{G)\ Increaze in activation erergy (D) Reduction in aclivation ENATY

88 Kicneys ame nol only organs of excrelion, their work is supplemonted by

(&) Livar 1B} Hear
{C) Large mtesting (Y Skin
53, Thelongest ced in the bady of an animal ie
(A Cetepcytes (B} Mewron
{C) Chromalophores (M Lymph comuscles

60,  Vnamin nesded for blsod ceagulation ig
A} E (B) D C1 K iy C
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61,

Tha 1926 sassion of Indian Nabonal Congress is of significance in the
higlary of tha Freedom Movement Decause Ihe
1A} atainment of Soif-Covernment was declared as the objoctiva of the

Congress

(A} atainment of Pooma Swara) was adopted as e goal of the

Congress

(Z) Men Cooperation Movemen! was launched
(D} decision o panicipate in the Round Table Conference in London was

taken

82. The movemen! thal game o an abrupt end duc 1@ the Chaun Chaua

incident was the

{A) Wahaht Movement {B) Home Rule Movermes

{C) Mon-Cooperabon povement (D) Civil Disoberiancn Mayement
£3.  Malch the following: q)“

P} R Das 1 Barcnli 3l

Q)  Vallabh Bhai Patel 4

R} Abdul Ghaffar Khan 3 \(}1

5) Mmdana Arad 4. i Whichmatgar

(&) P-2,0-1, R4, 8-3 & 4 R-1,5-3

(G} P=4.O=1 R=-3, 3-2 { . Q=1, R=3, 54
&4,  Money can be spent oul of the Co d Fund of India

(&) wilh the apgioval of e Pr

(B} wih the approval of

(C) with the spproval of

(D) wilh thee approval tove authorites
€5,  Which of he i'nﬂm;&nt a condition for bacaming 2 Citizen of India 7

(A Birdn L {8y Descent

() Aegu ry i) Nawmalsation
66. The Oa ice i3 conducled lo the President of Inda by

(A ket of Lak Sakiba (B} The Chiel Justce of india

(& & Vice-Frag:dgnt of india (D) The Prime-Minisiar of India
8T, Dew s cawsed when

(A} humid 3ir cond@nges on ool surface

(B) the sky s overcast af night

{Ch the air is colder than the earth's surface

(D) thee wined ks bog dry 1o cause rainfall
8.  Corbel Natonal Park s in

(A) Rinar (B) Madhya Pradesh

{C) Uttarakhand (D) Himachal Fradesh
TSGOD1314 23 2003
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T

T4,

5.

Which crop reguires waler-logging for its cultivation 7

(A) Tea (B) Conpe

(C) Rice (D} Mustard

Civa can open a Savings Account In Inda excapt in

{A) A Nalonalised Bank (B) A Conperathe Rank
{C} a Private Bank (D} Resarve Bank of India
The Term “Insida Trading” is related 1o

{A) Share Market {B) Horse racing

(&) Taxation (D) Public expendiluie
The tesm MOM was in news In relatian to

(&) LCAG rapon (B} Asian Gma?_ )
{C) Mangalyaan (D) Election Commission

Merdeka Cup is associaled with ~
(A) Imematonal 1able | enms {B} Badminton

(G} Hockey (L) Anidaiational Football
Recently, referendum lor independenceaas hekd in
{A) Hongkong B} Ireland
(€} Scotland "{D) Germany
Match Col. X (Sportspersdnhand Col. ¥ (Sports) ;
Col. X Col ¥
P.  Jitu Rai 1. DBadmanton
Q. Heena Sidhid / 2. Wresting
R Jwala Gufiary 3 Shooling
8. Ywu}{wm’ﬁutf
(&) P-3.8%3,R-1,8-2 {8} P-2,C-3 R-1.5-2
(C) Ped Q-2 R-1.5-3 (f) P=3 =1, R=1.5=2

Wiich of the following celetnilies was meceniy appointed as “Brand
Amhassador of Telengana?

(A} Deepika Pallikal (B8) VWS Laxwman
{C) Saina Nehwal [[1) Sania Mirza
EBOLAIs a

(A} wirug disease confirmed in West Africa

(8)  mame of Tsunanmi

[C) Mame of anti-terroris! operation in Arab Counlry
(D} wolcano in Afncan Hills
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BKE lyengar, who died recantly. ﬁ-as a vorid renowned
(A} Yoga Gury (B} Artnl
{C} Folk Singer () Film Cirseta

Which Country has recantly launched “Gandhi Inspired Tourist Attraction
Project” ?

{A} England (8)  Soulh Africa

(C) UBA D) Japan

“Swachch Bharat Abhiyan®
(A) Meslam Ehattacharjoee (B] Anant and Bh
(C) Uday Kumar (D} Virman Kohii

¥Who amaong the following has designed the logo and s%ut the

Tha glegan of Asian Games Incheon 2014 was OQ
{A) Green, Claan and Friendship \

(B)  We Cheer, We Share, We Win

(C) Divereily Shines here 00

(D) The Games of Your Lie

*

“The “Haimand Provineg® nistan s famous for culfvaton of
(&) Tobacco % (B) Wheat
(C) Colton (0 Opiam

Main qujnﬂm @ y announced “Pradhanmantn Jan-Dhan Yojna®
&

(&) top :hink account 1o every poor

B} wher & inlerest freetloan io farmers

1% ravide financial assistance bo tribal communication

[[8]] provide free medcal facilily lo minonty people

Consider the following pairs |

1.  Garba: Gujaral

2 Mahiniattam : Odigha

3. Yakshagana - Karnataka

Which of the pairs given abowve isfare comectly matched 7
{4} 1 only {B) 2and 3 only
{C) 1 amd 3 oaly (0 1, 2and 3
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Devdas and Parinita are Princapal Btorary works by
(A) Rabindgra Math Tagore (B} Sarat Chandra Shalterjec
(C) Salyajil Ray (D) Munshi Premchand

The capacily of two pols is 120 liires and 55 lires respeciively. The
capacity of a contairer which can exaclly measuie e conlents of e wo
pots s

(A 7500 cc (B) 7850¢c

{C) AO00 e (D) 8500 cc

A sum of T312 was divided among B0 boys and some QiIfs in Such & wiy
that each bay gele ¥3.60 and each girl 3240, The number of k3
(A1 35 B) 40 () &0 o

Some slufents plannad a inp The budget for Tmu@a, But. 5 of
them tailed 1o go and thue the cost of focd for aagh member increased by
5. How many students altended the trip ?

(A} 15 (8) 20 1<) O oy 30

In a clage, Ihare are bwo eactions A 3 @HD eludents of eaction B shifl
over to scction A, the strength of A 3 three imes the strength of B
Bub. i 10 students shill over lo B, botlr A ard B are equal in
ﬂrnrq]lh Himwas I'I'l.l'ljl’ ladans ingactinne &4 and B 7

{4} 50and 30 . Q) {B) 45and 15

(C) 90 and a0 Q\ (O} B and 40

1250 articles m@lm amany students of a class. Each studant god
&

fwice 2z man as the number of etudente in that group. The
number of st in tha group was

(A) 25 (B) 45

(C) N {0y 100

rage of marks of ZIE students in Malls was 50 8 studenis el the
and then the average increased by 5 What & the average ol marke
ained oy he sluedents who left the school 7
{A}y 375 (B) 42.5
) 45 (D] 50.5

Six pereons wenl fo o hotel for meals. Five of them spent 132 gach on
their meals while the 0" person spent T80 more than the averbye
expendiure of all the six Total money spent by all the persons is

(A} 192 (B) 240

(C) T288 (D) 7338
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Iha sum of bwo numbers ie 2480. If 6.6% of one number is equal to 8.59%
of the other, the greater number is ;

(8) 1079 (B} 13HD

{Cy 1411 Dy 1250

X ig 40 yeare ok and Y ie 60 years old. How many years ago was the ratio
of theiragea 3: 57

(A) Svyears (B} 10 years

Gy 20 years {00 37 yeas

In measuring the sides of a rectangle, srrore of 5% and 3% in excess are
made. The ermor percent in the calculated area is

A 8.35% (B) 7.15%
i) 8.15% (D) 6.25%

If & frame ia sokd at B60, there is a loss of 15%: Fofa profit of 2%. the
frame is to be sold al

A 70 (B) 72 cy s D) 85

On seling 100 pens. a shupkeepe u.’fﬂs ‘glice of 20 pers. His gain
pereant i
(A} 25% (B 20% @}-"15% o 1%

z
1580 ie divided among A By Bush that A gets 3o what B gets and B geta

1 (

; of what C gets. Than thee chares are respectively

(A) 78, €325 1280 (B} TAO, T120, T480
(C) %80, T210. ®300 (D) T100. €200, €380

X, Y and ¥ =t a nusiness X invests 3 limes 35 much 8 ¥ ivests and Y
mmh-&‘mmmu_mmm Then the ratio of capitals of X, ¥, 7 iz

(&) 3:9:2 (B} B:10°15
(C) 5:3:2 D) 6:2:3

A4 man, 3 woman and a boy can logether complate a piece ot work in
3 days. if a man alone can do it in B days and a boy alone in 1B days, how
larg will & woman take o complete the work?

(&) 9days (B) 21days

() 24 days 0y 27 days
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102,

103,

104,

105,

108,

107,

A tap can fill @ cigtern in & hours and another Lap can ematy it oy 16 hiowrs,
if both the taps are open, the time taken 15 fill the tank will be

(A} B hws, {B) 10hrs.
() 16 hrs. (0} 24 hrs.

Twu lrains approach each ether at 30 keifhr and 27 krnfhr from two places
342 km apart. After how many hours will they mest d

(A} & hre. (B) Bnhre

(G 7 hus, i (D) 12 hrs.

)

5 S
The speed of a 150 m long train is 50 kmph HnwmumU it take 1o
pass a G00 m bong platform

(A) 50 S8 (B) 54 sec
(C) 6Osec [{s]] Bu Q

‘S

In how many years, 3 eum will be mr(@n simple interest @ 10% per |

annum 7

(A) 15 years Q} 20 years

(C) 30 years ‘\Q (D) 40 yaars

A gum of monay 10 THGA0 in ? years and T10648 in 3 years. The
rate of interest um on compoundad bagis g

(W) 8% Oy 8 10%

(C) 18 N o) 20%

ol a crrcular fiedd and a square fiehd are egual, I e sica
square field is 12100 m?, the area of the circular field will he

A 15500 m? (B} 15400 m®
c) 15200 m? () 18300 m’

If the height of 2 cone is doubled, then the ooease in i volume is
(A} 100% (B) 200%
(C) 300% (o) 400%
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108,

108,

110.

11

112,

113

115,

An angle 15 one fifth of its supplement. The measure of the angle
ay 1% {8y - ) oaeT Ly s

The angle of clevation of a ladder leaning against a wall is 807 and the
foot of the ladder is 7.5 m away from the wall. The kength of the ladder is

Ay 16m (8) 1488m
{C) 1564m {0) 158m

Select the option to replace 7 such that pattern in given number senes is
conlinuisd

6.13.25.51,101. 2
(A} 201 (8) 202 (C) 203 {0y 2,

Select the option 1o eplace 7 in given alphabet seqles ™ conlinue the
pattern

WFB, TGD, QHG, ?
(Al NI B} NIK 1Ch N D) OIK

In given letiar saries, some of the Ia'llqMa migsing which are given in
that arder in options. Select the mrika«imllm
_bedbc_deand_bedbe_dc_bd

(A) AARAR (R) ceoone

[C) bbbbb (D) aaaoa B

Selact the nptlu!}jﬁ’qt}l;;mu similar relation as between given words.,
Attack : Dafend”

(A GTal:lugL,\Ahmpt (B} Sedate : Calm

i) Aﬁ&n TAllot (D) House : Home

S-&ﬁi“f"‘me option such thal relation between words on edher side i
similar,

Vigitant : Alart : | Viabla ;7

(A Aribe B} Hopeless
{C)} Feasible (D) Unsaetul
Select the odd one out

{A) Iran ) Mickal
(C) Cobait (D) Alumindum
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116,

17,

118

118,

120,

0 is tallar than C and E. A i nol as tall as E. C is taller than A, D ia not as
tall ag B. Who among them is next to the tallest one 7

Ay A B O

C) BorD oy C

X walks 10 km towards North, From there, he walks § km lowards South.
Then, he walks 3 km towards Easl How far and in which direction is ha
with reference to his starting point 7

(A} 5 km Wasl (B) 5 km Morth-Cast

(C) 7k East (D) T km West

Directions: (Question No. 118 & Question Me. 119} t:hum the
Carract ophion far given classes. \

@ @O @
O

i) OOO ) (:;$\I '@
D

Men, Wamen, Human tmlngi

Doctors, Lawyers, mer:as

Select the oplic {m ffphma ? in Problem Figure to continue the patiem.
Problem Figure (

QD[ A [A|O] -

@] (8) @
i) m 1;} (ﬂ}
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121.

111

13

TI4

125

12%.

i

Consider the following Statements

Aoreal gas obeys perfect gas law at vary

1) High temperaines 2} High pressuies
3] Low pregssures

Wihigh of these Slatements isfare correct 7

{Al 1 akone iB) 1and3

{C1 2 alome 0} 3 akine

Which cne of the following is comfecl 7

The spacific velume af water when hested from 0°C
(AY  fisl incoeases and (len decieases

(B} first decreases and then incinasnes

(G} increases steadily

{0} decreases sicadiy

Two blocks which are at different slales are Drought Nk cOAtact with parh
other and alicwed 1o reach a final stade of thermal equilibrivm. The final
temparaure atfained is specified by the

(A} Farolh Law of Thenmodynamics

(B} First Law of Thermodynamics

(S 2™ Law of Thesmodynamics

{0t 2" Law of Thermodynamcs

& composile wall consists of hwa layers of diferenl matedals having
condustviles K, and K; For-equal thickness of the bwo layars, [he
cauvalant thermal conductivity @l he slab will be

(A] Kyt Ky (B] KKz
2K K, K, +K;

e D
e Ky 4K, L] K Kz

The presence ol itrogen in the products of combustan ensures that
(A} Complete comnestion of fuel lakes place

{H]  Ircomplete combughon of fuel lakes place

{G)  dry products of combusgtion are analysed

D i 15 wsed for the combustion

Wisch one of the Bollswing ¢ Ihg most signiticant propery 1o be
conaiderad in the zalection of maltchial for the manufacture of locating ping
ared dnill jig bushes used i s and fixures ?

(&) \ear Reslziance (R)]  Flasncity

() Shear Strength D) Tensls Strangih

What tenm s wsed o designale the direction of the predominan! surlacc
paugm pmﬂ:l{'m:l h':,l ma l‘J‘lIFEI'lg I"l[‘lﬂfl'.:lﬁl'ﬂ'l 7

(&) Roughneee {B} Lay

Gy Waviness {D) Cutoff

TEG001314 Eyl 2003



128,

120,

130.

131,

132,

133.

134,

138,

Steady Stale Heal Niw implies

(&) negligible flow of heal

(B] no difference of temperature between the bodies

() constant heat flow rate i.e. haat fow rate independant of time
(D) uniform rate in temparature rise of a body

What is the main shaft of an engine that controls the movement of piston ?

(A) axie (B) drive shaft

{C) crank shaft {D) cam shaft

For small and intricate castings, the sand graina sheuld be
(A} fine (B) madium

{C} ecoaree (D) rounded

In Submerged Arc Welding, the arc is produced bgbwgen
(A) & bare melal electrode and work pieca .~
(B} a tungsten electrode and work pigee 4\
(C) a carbon elecirnde and work pleee 0. N
{D: any type of clectrode can be used™ &/

\ \J
For Welding Brocess, which i HOT gofrect
(A} Weiding size nmﬂsa@mwﬁi area of 1he face of Electrodes
(B} Metal fusion takes plu.qph\r taising the temperalure to fusion paint
{C) In Pressure weldirm \the ends of metals pleces ae joined in Flastic

slate

(D) Gas Name is usédas heat source in gas welding

In overhead wedlling position, which s comect option.

{A) work piaces lie flat, welding is dona from upper side of joinl

(B weekding s perfonmed fom e undeside of joinl

{C) (hig position is most simphe oparation as compared to flal posilion
(D nost suilabde fur H»utllu:ruud AIC process

Soft iron is used in the manufacture of electromagnets because of its
(A} high saturation magnetisation onby

(B} low retentivity only

(C) low coercive field only

(D) high saluration magnetisation, low retentivity and low coercive feld

Which of the lollowing s piezo-electric material 7
(") Quartz (B} Silica Sand
{C) Corundum (D) Polystyrens

756001314 3z 2003



136,

137,

138

139,

140,

141,

143,

Which three-phase connection can be used in A ranstormer o nboduce 3
phase differance of 307 betewean its outpul and corresponding input line
voltages ?

(&) Star-Della (B} Star-Star

[T} Dela-Delta {0} [ena-Zigzan

If W conductans carry cument in the same direction
(A} Conductors attract each other

(B} Conductors are in resonance

(C} Conductors repel each oiher

(B} Vollage between two conductons increascs

According to Joule's Law, heat energy produced by a Cuffeal v while
flowing through a conductor of Resistance R for a Length LandTime T, is
proportional o

(A} T only (B PRT
icl I"RL o) IRLY
Reciprocal of magneatic permeability is ¢
{(A) Conductance (B) Susceplance
(€} Reluctivily (D) Pasmatvity

A material is g3k 10 have Decoma Superconducton when
{Al it resistance becomes negalive

(B} its resistance becomes verssmall

(C) its resietance decrodsés

(D) its resislance becofmes Tero

When a given irafisfesmer is operating al its raled veltage with reduced
lregquency. its

(&) Iron losges afe reduced (B) Flux densily remains unafiectod
{C1 Corg Nl density is increased (D) Core Mlux density is reduced

The afmature core of a d.e. maching is usually made of laminated sheals
ingrder to

(&) reduce hysteresis loss

(D) reduce armalure copper losses

(C)  reduce addy cumen

(D} increases its surface arca for better dissipation of heat

To reduce air pollution due lo smoke, are uged i Ihermal
power plants,

(&) ehealers (B} superheaters

{C} inducad draft fans (D) Electrostatic precipilators

TEGO01214 1 2002



144,

145,

146,

147.

148,

149,

150.

Match Col X (Instrument) wilh Col Y (Use)
ol

Col. X Col ¥

P Transformer 1 Mgasures Current

G Reclilier 2. Ingulalion Hesstancse

R Ammalor 3, Steps down Voitage

S Megger meler 4, Converts AC input to Linipolar
sutpul

(A} P-3,Q4,R1.82 (8) P-3,0.1, R-4, 52

(C) P-4.0-3, R-2 31 (D} P-3,Q-1,R-2, 54

FET ks a davice which has

(B) fow inpul impedance and is volage comrollad
{2} high inpul impedance and is voltage controlied
(D) tow input impedance and ks curment controlbed

{A) high inpit impedance and is current controthed @

*
Which gate comespands o the action of par, %ﬁﬁ?

(A} AND gale {B) 1

(5] NAND gate ) aale

‘Which of the following contribu ics distortion in amplifiars?
{A) Monddinearity in active dev ) defective device

Soloct the Statement is NOT eormect

of semiconducior maberial

&d upon p-n junction

r continls audio signals

The ntage of a bridge rectifier over full wave rectifier with centre
slomer 15

{ ripple

(B)  No transfomer is needed

{C) peak inverse voltage of each diode is halt

() P of each diode is double

Whealstone bridge is used lo measure

(&) low values of curent and high values of current
(B) high values of current

{C)  Low wvahee of wollages

(D) resistance values
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RRB SSE YELLOW(TSG001314) KEY

1.A 2.C 3.C 4.D 5.D 6.D 7.B 8.D 9 10.B
11.B 12 13.A | 14D | 15A | 16.A | 17.A | 18D | 19.D | 20.C
21.A | 22.D |23.AD| 24C | 25.D | 26.D | 27.A | 28.C | 29.B | 30.D
31D | 32C | 33.C | 34D | 35.C | 36.A | 37B | 38.B4~39.B | 40.A
41.D | 42B | 43.C | 44C | 45D | 46.C | 47.C | 48:.C | 49.B | 50.C
51.C | 52A | 53.C | 54B | 55B | 56.B }»57.A | 58.A | 59.B | 60.C
61.B | 62.C | 63.D | 64.B | 65.C |.66.B | 67.A | 68.C | 69.C | 70.D
71.A | 72.C | 73.D | 74.C | Z5A"| 76.D | 77.A | 78.A | 79.B | 80.B
81.C | 82.D | 83.A | 84D+ 8.B | 86.B | 87.B | 88.B | 89.A | 90.A
91.A | 92.C | 93.C.| 94B | 95.C | 96.B | 97.B | 98.B | 99.D | 100.A
101.C | 102.B-| 103.B | 104.B | 105.B | 106.B | 107.B | 108.B | 109.A | 110.C
111.B | 112.A | 113.A | 114.C | 115.A| 116.B | 117.B | 118.D | 119.D | 120.C
121.C | 122.B | 123.A | 124.C | 125.D | 126.C | 127.C | 128.C | 129.B | 130.A
131.A| 132.B | 133.C | 134.C | 135.A| 136.A | 137.A| 138.B | 139.C | 140.B
141.C | 142.C | 143.D | 144.A| 145.C | 146.B | 147.A | 148.D | 149.B | 150.D
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